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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4} best fits each
space. Then mark the answer an your answer sheet.

When Newton arrived at Cambridge. the Scientific Revolution of the 17th century was
alrcady in [ull force. The heliocentric view of the universe—theorized by astronomers
Nicolaus Copernicus and Johannes Kepler, (11) ---------- refined by Galileo  was well
known in most European academic circles.

’hilosopher René Descartes had begun to formulate a new concept of nature

{(12) -=mmmmm-- an intricate, impersonal and inert machine. (13} ---------- . like most
universities in Europe, Cambridge was steeped (14) ---------- Aristotelian philosophy
and a view of nature resting on a geocentric view of the universe, {15) ---------- with

nature in qualitative rather than quantitative terms.

11- 1) and was later 2) and later 3) later was 4) which was later
12- 1) like 2) such as 3)as 4) the samc

13- 1) Although 2) As though 3) Because 4y Yel

14- 1)in 2) lor 3) with 4)of

15- 1) dealt 2) dealing 3) by dealing 4) and was dealt

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3}, or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

l.eakages of hydrocarbons provide both a serious risk of fire and explosion. and a loss
ol plant availability. Corrosion has been shown o causce in the region ol 15% ol the
leakage occurrences. [nspection is carried out, particularly for internal corrosion by
means ol nondestructive test methods which give valucs ol the pipe or vessel wall
thickness. Tvpically these methods only sample the overall area of a plant. There are
risks associated with this. The sampling may lead to inaccurate estimates of corrosion
ralc. cspecially where pitling has occurred, or may not address the lact thal a sample
needs to he extrapolated over the whole area of plant in order to give a realistic
estimate ol the minimuwm wall thickness in that arca.

Statistical methods to improve the estimation of corrosion rate or to estimate the
minimum thickness over a larger arca have been suggesied lor over 50 years, and have
been applied in a few isolated cases. These methods, when combined with reliability
methods, offer a potential for obtaining better information from inspections by further
analysis ol the data collecled and can produce predictions of [uture probability of
leakage. However. widespread application is not common, largely because the use of
statistics requires specialist knowledge, and no reference standards cxist. These
euidelines are intended to provide an introduction to the techniques and capabilities of
the statistical methods with view to their wider application in industry.
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20-

Which of the following is NOT true about leakages of hydrocarbons?

1) They may lead o explosion.

2) They can cause serious risks.

3) Most of them occur duc 1o corroesion,

4y They may result in a loss of plant availability.

The word “this” in paragraph 1 refers to --—--------- |

1) plant 2) corrosion

3) vessel wall thickness 4) only sampling the overall area of a plant
According to paragraph 1, the minimum wall thickness in an area can be realistically
estimated when -------—------ ;

1) no pitting has occurred in the arca

2) non-destructive test methods are vsed

3) the overall area of the plant is sampled

4) the sample can be gencralized to the whole plant

Statistical methods for estimating corrosion rate have only been applied to a few cases
duc to ----------—-- :

1) the difficulty of combining them with reliability methods

2) lack of statistical knowledge and reference standards

3) the possibility of future leakage

4y lack of reliable data

According to paragraph 2, future probability of leakage can be predicted by --—-----———- :

1) certain statistical methods 2) carrving out inspections more often
3) further data collection 4) studying the history of the area
PASSAGE 2:

Health and safety hazards exist in every workplace. Historv has shown that workers
are injured in every workplace, regardless of the business tvpe and tvpes of activities
being performed. Some hazards in the workplace are easily identifled and corrected,
whilc others are dillicult 1o ideniily and control, creating cxiremely dangerous
conditions that could be a threatl to lile or long-term health. The best way 1o protect
against the hazards that arc inherently present in the workplace 1s to know how 1o
recognize and control them te protect workers [rom being negatively impacted in the
workplace.

‘The industrial hygienist is one of the primary professionals involved with the
workforce in the identification and recognition of hazards in the workplace.
'Iraditional industrial hygiene training focuses on chemical and biological hazards:
however, depending on the size of the company or institution by which the industrial
hvgienist is employed. the recognition of workplace hazards may go beyond the
traditional industrial hygiene field because the job may also include functioning as a
safetv manager or engineer, environmental manager, or operations specialist.
Recognizing or identifving hazards is one of three steps used to protect the worker
from hazards in the workplace. Along with identifving the hazards, the industrial
hygicnist must analyz¢ them o deiermine their healih risk 1o an cmployee, along with
understanding how to control the hazards.

Some hazards may cxhibit more than one risk factor. For example, exposurc (o
noise may not enly causc hearing damage, bul also interrupt or completely impact and
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22-

23-

24-

stop communication between workers, and may be distracting, which can lead (o an
accident and potentially an injury, Another example o consider is the use of mctal
uranium: not only is it linked to cancer. but also the chemical is a health risk to the
kidnevs. Without understanding the health or workplace risks associated with the work
to be performed, methods used to analyze and control the hazard. and essentially risk
to the workers, may not be effective.

Which of the following is true according to paragraph 1?

1) [njury may occur in any type of work environment.

2) Workplace hazards are normally hard to detect.

3) It i1s mostly the responsibility of workers themselves to control hazards.

4) Workers should siudy history to avoid health hazards.

According to paragraph 2, functioning as an opcrations specialist -—----—------ A

1) has always been included in indusirial hygience training

2) was not traditionally expected [rom the industrial hygienist

3)is now very common among industrial hygienists

4) plays an important rolc in controlling hazards

What is the second step that the industrial hvgienist takes to protect workers from
workplace hazards?

1) Control 2) Analysis 3) Recognition 4y Identification
Why does the anthor mention exposure to noise in paragraph 3?

1) To highlight the importance of hearing damage

2) l'o show how its risks can be prevented

3) To provide an instance for hazards that pose more than one risk

4y To illustrate the dangers involved in lack of communication between workers

According to paragraph 3, kidney problems can be a result of --——-—--—-— :
1) cancer 2) exposure to noise
3) organic chemicals 4y the usc of metal uranium

PASSAGE 3:

Workplace salely 1s very mmportant lor cach and cvery cmployee in the industry
because all the workers desire 1o work in a sale and protected atmosphere. Health and
safely 1s the key lactor for all the industries in order lo promole the wellness of both
cmployees and empleyers., 1t 1s a duty and moral responsibility of the company Lo look
after the emplovee's protection,

Fach and cvery person who leaves his home for his work in the morning should
come back to his home in evening in good health. [lave you ever imagined that your
loved one will never be returning home? Or you get a call that he/she is in the hospital
due to some incident occurred? ‘These thoughts only get us goose bumps. 'This is the
only reason why it 1s important to create a safe working environment.

‘These days, workplace health and safety procedures are important for the
well-being of both emplovees and emplovers because human loss is imumeasurable and
intolerable. As, such loss or injuries can employ major loss to the tamilies.

All the industries do have salety risks bul the management should devole their time
o think and stratcgize the things that what salcly precaulions are required in their
company o make surc that their workers are sale enough lor all the time. Also, the
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28-

29-

30-

management should confirm with all the workers related to their daily work and
comfort, so that the management can take the same step according to the desired
aspects of workers. This helps them in improving the productivity and quality of the
products and lot more.

What is the main function of the passage?

1) Advising employees to stay safe

2) Providing a list of safety procedures

3) Comparing safety risks in various industries

4) Highlighting the significance of workplace safety

Why does the author raise two questions in paragraph 2?

1) To seek an answer

2) To arouse a [celing of empathy in readers

3) To prepare readers [or the next examples

4) To illustrate that the employees should be careful at work

The word “intolerable™ in paragraph 3 is closest in meaning to ----—--——--——-,

1) unbearable 2) invaluable 3) invisible 4) irresponsible
The recommendations provided in paragraph 4 mostly address --------—----- .

) workers 2) families 3) the management 4) certain industries

Which of the following is true about enhancing workplace safety and workers” comfort
as suggested in paragraph 4?7

I) Too much comfort can result in lower productivity.

2) Workers should be informed about the risks that their job involves.

3) It can lead to many benefits including higher productivity and quality.

4) [t can only lead to desired results if certain strategies are emploved.
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